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BASI C
CLS
PRI NT "Adoce évov apropod:”
I NPUT a
PRI NT "Adcs éva deltepo aplBud:”
I NPUT b
LET c =a+b
PRINT "To &bpoiopa eivar:” ; C
END
Pascal
uses crt;
var
a, b, c:integer;
begin
clrscr;
witeln(' Adoe évov opLouo:');
readl n(a);
witeln(' Ados éva deUtepo aplOud');
readl n(b);
c:=a+ b;
witeln(' To &B6poiloua eivar: ', C);
readl n
end.
C
# include <stdio. h>
int a,b,c;
main ()
{
clrscr();

printf ("Adoce évov apibpos™)

scanf ("%l", &a);

printf ("Adce évo deUtepo apLBud:");
scanf ("%l", &b);

c =a+b;

printf ("To &fpoiopa sivar: %" , c);
}
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Pyt hon

a = int(raw_input('Enter a number: "))

b = int(raw_input('Enter a second nunber: "))
c=a+hb

print "The sumis: ",c

raw_i nput ()

JAVA

i mport java.io.*;

public class | nput Exanpl e
{

public static void main(String[] argv) throws | OException
{
Buf f er edReader br = new Buf f er edReader (new | nput St reanReader (Systemin));

String tnpa,tnpb;
Fl oat a, b, c;

Systemout.println("Enter a number: ");
tnpa = br.readLine();

Systemout.println("Enter a second number: ") ;
tnpb = br.readLine();

a Fl oat . par seFl oat (t npa) ;

b Fl oat . par seFl oat (t npb) ;

c a + b;

Systemout.println("The sumis: " + ¢);
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PHP

<?php
$stdin = fopen("php://stdin", "r");

print("Enter a nunber: ");

$a = fgets($stdin);

print("Enter a second nunber: ");
$b = fgets($stdin);

$c = $a + $b;

print("The sumis: $c");

fcl ose($stdin);
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